1. 2° =16
2. 5° = 15625

3. 3° = 243
4.6 =1

5_ 831‘—] — 1

6. T2 = 343

7. 4% =L

8. 102+ = 1

9, 2 =§

10, 32-= =1

11, 3% = 6561

12. 5221 =125
13. 3=t = 729
14. 5*2 = 625
15, g =2187
16. 92+ = 729
17. 5*+ =0, 2
18. 10%+6 = 1
19,.2%. 9%+ — 53
EU 31‘ . 3?.1'—3 — ::;5
21, 27=-1 = ¢ +3
22, 2% = 4=
23, 2573 = 16
24, 5%~ = 25
25. 271" = L
26. 11° =% — 1351

1. Ecuacions exponenciais:

Fi=
r==0
]
=1
e=1
T=1
r==—4
r=-—2
r==-3
=1
z=4
g==:2
T=25
r==0
=4
=1
r==2
r=7
s o,
T=3%
T=9
o=



4 1]
27 -ﬁl' +Tz4+1 = 1

fi

28. 5% 2+ _ 125

29, 3% 1l =9

30. V13 =
31. v

32, V25T = /25
33. V2575 = {452

34. V10247 = /100*!

35. 27+ 4 97 4 951 = 7

6. E‘_?'.x'+‘_?| 1 2.1‘+3 o 32{']

37. F 4 3=+ 3= =117

38. 22 —-10- 7 +2' =0

39, &5 =3

40. e —5e T 447 =)

10.

2. Mais exponenciais:

5osig
it
0,2° = 0,0016
9% = 0,576
g

4 =3

10° =7

10 =
O3
gh=01

3. Mais exponenciais:

z=1
T=13
T=1
T ==1
=125
r=17T
z =10
=]
r=3
r=3
=g =l
T = 6,16

r=0yz=1069

r = (.68
=321
T =
xr =-—0,25
=10
=079
x = .85
r=10T8
=158
=277



10.

7" =512
0,2¢ = 0,0016
9 = 0,576
97 — 3

4 =3

10° =7
10° =
97 = 93z

3= =21

r = (.68
T =321
z=4

r =-—0,25
=15
=079
T = (.85
=078
=158



il -

10.
11
12,
I
14.
15.
16.
17
18.
19,
20.
21.
22,

4. Irracionais:

AT =T
.5+ 3/z=28
L8+ =12
.24 5yx =32
AT—=8=2

5—v3z+1=0
Vhr +1=+/142 +2
var—1=+2x+1
V2r+1l=+/2+5
vidr +9=+/8x +2
V2z+2=+3z-1
Viz =11 =722 -29
r—yr—1=1

3z =+3x+7-1

2 =+—-2x+5-1
6z —+/18z -8 =2
Vi+2—-yz-1=1
VEI—h—4x —-T7=0
VE+VZT+T=T7
V2z+1l=a/2—-3=2
V2r+3+4/r—-2=4

Il | = Bd| = bt L]
. . .

Z
| b
s



23. V3x —54+3r—14=9 R/10.
24. Ve + 10— vz +19= -1 R/6.
5. Vh—r4+ Ve +3=0 R/S=().
26. /b + 19 — /b = — R/S=0).
27. Vx =245 =+x +53 R/11.
28. /Or — 14 = 3o + 10 — R/15.
29. Vo —16 — oz +8 = —4 R/17.
30. vBx — 143 = /5 + 26 R/2.
31. 13 — V13 + 42 =2/ R/9.
R.Vr—Ad+Vr+4=2y/z -1 R/5.
33. V02 +7— o — 16z —7=0 R/1.
M. Ve +5+Vr—\VAr+9=0 R/4.
5. VI -2+ VIl -0 = 55— R/10.
36. v0r + 10 — 2/r + 3 = Vo — 2 R/6.
37. 6vVr +5—-3 =4/ +5+17 R/95.
8.7+ vbr—2=9 R/2.
39. 15— Tr —1=12 R/4.
40. Va2 412 -2 =2 R/2.
4. V222 + 2 +2=22+43 R/10 5.
42. V922 =5 —3a = — R/1.
43. Vvl —2r+1=9—=x R/5.

Vb —dr 43 -2 =1 R/1ly 3.

3r— Vet —r4+13=1 R/3.

V242 4+ 1—\ir4+1=0 R/O y 2.

5. Mais rracionais:



10.

11.

12.

13.

14.
15.
16.
17.
18.

19.
20.

A 44— 'T_l==.=“%

y o+ 1041 — -3
2 K

2—ir+3

VI — e —T= vi@
vr—2 T+l
VE+d T T3

. 5 .
vir—3+ Jro — v+ 9
vr+d  yr+11
Va2 T il
2 +6—+dxr — 3 = 3%
VI—2 2T
;; +2 E;.-_"

. . . _ 0
v -+ ].4: AN = ?JTT

Vi + 34 S =5
VI+ =5
2V =Vr+T+ 5
\9523:+m=3
Ve 4+ v+ 8 =2z




6. Logaritmicas:

h

- -

10.
Bl
12,
13.
14.
15
16.
i
18.

dogs (x—4) =2

MAogy (. —5) =4

. logqo (22 4+ 50) =2

. logg (z) =3

Aogg (22— 3) = logs 12 — logs 3

logy (32 +2) = logy 5+ logy 3
2 logs x = 4logy 8
3log x = 3log 5

dn(-4-z2)+In3=In(2-1x)

Inz+In(z+4)=Inl15+Iin3

logs (x) = 3

logs (z?) == 2

logio (22) = 4

logs (22 — 3) = logg 12 — logg 3

logs (4x — 5) = logs (2 + 1)

log (5z® — 14z + 1) = log (4z% — 4z — 20)
2logy () = 3logy 5

logs (22 + 3) = logs 11 + logs 3

RA3y7.

R/5v5.
R/15.



19.
20.
21.
22.
23.
24,
25.
26.
27.
28.
29,
30.
31.
32.
33.
34.
35.
36.
37.

38.

39.

logs (22 — 3) + logy (x 4 3) =4

logs (16x) — logy (x 4+ 1) = 3log, 4
logs (x) +logs (x +2) = 1logs 9

logip (x?) = logyy ()

Hogs (x — 2) = 4logs 2 — 3logs(z — 2)
log2 (x4 1) =3 —log: (x — 1)

logs x + logs (x —2) =3

logy (x) — 3logy 2 =logy b

logs (T—x)—log; (1 —x) =1

logs (x 4+ 12) = logs x + 2

logs (x +4)+ logy (x —2) =3
logz (x — 1)+ logs (x 4+ 2) =2
logs (x +2) 4+ loga (x +4) =1

log (20 +4) —log (x —1) =1
log (3x + 1) —log (x — 3) =3
log (x) +log (r —9) =1
log (x +2) —log (4x + 3) 4+ logx =0
log (3x + 5) +log (x +5) =3
(

log (x+2)+1log(x—1)=1
mqgr—J -3
log (5—

log (x4 6) — Llog (2z —3) = 2 — log 25

. log (% + ) = log é —log x

7. Mais logaritmicas:



—

Alog x = log /& R/1 y 10000.

Aogy (97714 T) =2+ logs (3571 4+ 1) R/1y2.
Aog (2'77) =log (7 — 2log x) — log 5 R/10.
oy i1y = 2 R/,
 57ogs T Tregr = 1 R0 y 107,
Aog () — % =5 R/10%y 107 .
log Tz +5+ jlog V2r +7=1+1log 4,5 R/10.
.zl =1 — 100 R/10y 0,1.
log (x —5) — Llog (3x — 20) = log 2 R/15y7.

rlog Ve — 1() R/100 v 0,01.



10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
200
21.
22,

23,

8. Valor absoluto:

=4 =3

|z — 5| =16
204+ 3| =7
|3z =6

|z —2| =3
|20 - 3| =9

Cr—1]=2r -1

N3z +2|=5-=x

|5z + 4| =2z + 1

|~ 6r+1| =40 -7

|z + 4| = |z + 2|
o4 = o —2
|3 —z| =1+ z|
|z 4+ 3] <8

|l — 6| < 4
|lr—1| = 5
|2z = 5] =3
|22 - 3| <5
|3z — 5] >4
|4z - 3| > 1
|3z + 1| > 15
5 -1 <2

|E!I.:-ﬁ}| <

4
7



